MPM1D1

Day 2: Orders of Operations

Date:

Unit 1 — Number Sense

ORDERS OF OPERATIONS

BEDMAS is an acronym we can use to remember the order
in which mathematical operations are to be performed.

Example1: 4—-(5-6) =

G==1)

Example 2: (3—-6) + (9

~10) + (24— 4) = (-5)

~ (DA ()

= (3+ (-Yy)
-4

B — Brackets

D — Division
M — Multiplication *

A — Addition
S — Subtraction **

BEDMAS

E — Exponents / Roots

*division & multiplication in the order they
appear from left to right

**addition & subtraction in the order they
appear from left to right

Example 3: 12 —[18 — (-1) “ + 3]
=19 ﬁ((g_(u)#ﬁ)

Example 4: 32 = [16 x (-2)] + 20 — (4° + 3)
=32 - (—3z)+20-(ls+3)
222:(-32) + 20-019)
“\—

-2 - (19~
12— (19=1+3) Resvt
—12-( 2@ _Tol
=(2-2© Tl —= ]
=k J
. @(pﬂned‘"
Let’s Recap a Little About Exponents... i i
QHE}{EHQZLH&JQSQ_
Complete the following chart:
Power Expanded Base Exponent Value
2° 2X2X2 2 2 S
G (B D)D) | -3) 5 12uyn
n? dxDx3 3 3 27
Q’O,&jﬂ 0.6x0.6x 0.6 0 b 3 0.216
(-4)" (- (-9) o) |2 3|
2" [2\x/2\x(X 2 k) 3
[gj (5 X(B‘) (‘f) 5 s
SN COINCD) ) 12 R
I -1 x4 -4 2 ~|
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Practice: Order of Operations

aB-9+5 = (-N+5

b. (4 +7)—(2°+2) + (+3)

:(3) —(q‘-l-l) —(3)
_(3)-(e)+0)

=3 "(2-)
C.3-2(3-7)x4+2 d. -8+ (-2) - (-3)
=3-2(1-2)x4+2 = +(3)

=2-2(2)x4 +2
== lb+2
~23-7%

=2

e.2(4-7)°+5x2
=2(-3) +lo
=2(-»3t10
= [F+o

757]

- -

; CO(3)-76)+9
-3

1€ — 42 +9
-3
- =5
-3

~ Al
g.6 —!\12 +(-3) +2

=6+ 4+

——

]

. C9QE)-2
(-8)(2)

==-30-2
— 6
- -32

—_— —

e

Answers: a. 4, bal, c. 5, d. 7, e. 28\f. 5, g, 12M\0. 2 <
] ) J v NN ~
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Practice:
1. [[8+(-9)(3)] = [(-15) - (20)]
< [-9+(-29 ]+ (-15-20)
= (-8-21) < (-39)
= (-35) "'(gfj
= [
5+7

3 3 g._%
-b

6.2-3-4-2+7
= b-847F

1o
9.3+2%16- 3%
=3+Y4-le-q
= 54y -. |L{L[
={—13%
12 —8-2+@35
= q_@ La-5
=qQ-1b+U9-395

15. (4-6)?

= ()

-]

18. 32 +

=32+(-2)

T

(]

2. (36) = [(-14) = (111)] +4

7. 5(-1) + 6(-2)
= ""3_-I'L

10. 6 + (3-4) - 2
=6+(-0)-2
= 6-1-2
-3

13. -4(2%-6

=-4(€)-6

=—32-b

-.;]— EXs
16. 4-6

19.

< 3b [+t
= 36:(-3)tY
:-'l'l'l"-’
=-7
o(-9+4) _ At5) L
“ln-2:3] 1o 5. 2°-3
=i5_‘-)_) = g‘q

8. (-2(3) - (D) -(-2)
="6~ (-?')"'Z
=-b++12
-5

11. 6 + 3-(4-2)

= 6+3-(2)

= 6"’ 3 "9\

14. (8-2)°
.
=(6)
=(if.;(
L
17. [32 = (-4)] + 2
(-9t

ﬂ

o -8+ L6+l
C 22+ -2 49
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EIDHRIC)

= 13!0

24. 5+10-3°
-5410-9

-l

27. (5+7)+2?

=(2)=Y

g

30. 9%- (20 + 11
= 81-(3\
= 81-3(

:‘g‘o

33. (1+5)574

= (6)-5-*-Y
= -5-1-Y

=[1o ‘
36. 65+07 =6(5)"

d150
38. (233+18) = 250 + 3 -33
= (251) +259 + 99

-~ (00.00Y

a1 10-(25+27) - [0(312
(5+3) (2"
= 320

y
~ 1=

Unit 1 — Number Sense

5y 8-4°+3 ’%__1'-%—%*1 3 (234 ()+6-_é_’_i%i£
4.2-3%+9 ' ~205(-5)+8 '
g . %
T -y - 05
s -5
3 -6

% 64+52-115 925 ¢ 7.2 +3)-21
=24+25-1] -7—( 5)-2]

|

28.5%-4%+3 - 2 29. (8)9-6%+4
:2‘:’-164{3-7—[ = (-3b+Y
22;"'_]64_‘6 :?’2'361’”

-] - (W]

31. (2+3)-10°+52 32. 3-(30 + 4)-7°
=(5) |00 + 25 =3-(34) -49

= ’;00‘1'24- ‘:5"3 "L‘ﬂ
_[527 =[- 80|
34. 0x15%-(400 + 21) + 19° 35. Ox1°x(59+92)+5
——————

- 0-25 - (421) ~ 34| —
_ 0-(u2D=+3¢| -0

dan) ]

37. (7-7) 337 + (45+3)2 _ (0)-33* = (4¥)*

e

o+(w)1'
R, W,
=|Oi
30. %—(3 +3) 40. w.:(?.q)aoo
|oo
= 150
= - - 4800
= |l0-6k (o0
4y 25:(6+7)-5 = 25012)-25
L+ -19  GT1T
- 225 -25
(63-19
= 302
150
-G

Complete: Appendix C: Course Intro Homework p.4

Page 4



